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Answer the following questions:
First Question: Choose the correct answer:

1) The domain of the function n~! where: n(x) = xfi:i (g

{R or R-{-4} or R-{4 or R—{-4,4}}
2) The probability of the impossible eventis.............
{® or zero or: 1

3) Thetwo straight lines 3x + 5y = 0 and 5x — 3{: 0 intersects at .........--
fourth quadrant }

or -1}

{ the origin point or first quadrant or second quadrant oOr

4) If Ac Bthen P(AUB) = «-evevveee ,
{ zero or P(A) or P(b) or

P(ANB)}

5) The set of zeroes of the function f(x) = 9 is
{{9y or

6) If the two straight lines x + 2y = 4 and 2x + ky = 11 are parallel then k ==-+--=-*"
{4 or 1 or -1 or 2}

Second Question:
x2-2x 2x+6
— + e

1) Find n(x) in its simplest form showing its domain where n(x) = -5 e
2) By he equation x? — 5x + 3 = 0 where V13 = 3.6

using the general formula solve t
Third Question:

1) Find the solut
x—5y=0 and x2 +y* =26

{0} or @ or R-{9}}

ion set the following two equations in R X R

x2-3x+2 x2—4%x-5
x2-1 3x—-15

2) Find n(x) in its simplest form showing its domain where n(x) =

Fourth Question:

1) Find the solution set the followin

2) Ifny(x) = x—:—z , Ny(x)= 2—% prove that 1n; =1y

Fifth Question:

1) IfA,B aretwo eventsina sample space of a random experiment,
P(A) =0.3 . P(B)=0.6 . P(ANB) =0.2 find:
First: p(A U B) , Second: p(A\)

2) Represent graphically the curve of the function f(x) =

from the graph find the solution set of the functionx? +2x+3 =0
wo((( ALwdlt gt )))x

g two equations in RX R X+y=4,x—-y=2

x? + 2x + 3 takingx € [-3,1]
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